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I ’n mwn: liability for a watched item that breaks when being moved by 1mw
a  n":both n"w and v"v take an oath that they weren’t neglectful
b ®™:accepts n"’s tradition, but doesn’t understand how v"» can take the oath
¢ M7 only n"w takes oath; "V is liable in any case, each following his proper level of liability
i Challenge: n™ holds that yw1a 5pmi (in re: liability for broken items left in street) - how will this oath help?
ii  Answerl (¥"): 2 versions of 1" (can’t be reconciled)
1 And: nmi 1 disagrees, assigning each 1mw his usual liability and exemption
2 And: R™ accepts n"’s tradition, but doesn’t understand how w"v can take oath
(a) Furthermore: even n"® can only take oath if there was a slope;
(b) Furthermore: even if there was slope, oath only if there were no 0>y (as per *o'X’s interpretation of v. 1)
ili  Answer2 (72117 73): this oath is D'nan mpn; else, no 1MW will ever move items around
1 And: nmi» 1 disagrees, assigning each 1mw his usual liability and exemption
2 And: R™accepts n™'’s tradition, but doesn’t understand how v can take oath
(a) Furthermore: even n"w can only take oath if there was a slope;
(b) Furthermore: even if there was slope, oath only if there were no 0”1y (as per *o'X’s interpretation of v. 1)
iv  Related stories:
1 Man was moving a barrel around a house in Xrnn and it broke on a beam
(a) wav:thisis a public area, provide witnesses and be exempt (following »or)
2 Man bought 400 barrels of wine for another, when he delivered them he reported that they went sour
(a) ®21:400 barrels going sour is a well-known event; provide witnesses that they were originally good and be
exempt (as per "O’R)
v Ordinance (Nax 72 871 ’7in X15°D): porters who break items, if carried with yoke, pay %2
1 Reason: it’s too heavy for 1, too light for 2; midway between np>*wa and o1 (split the difference)
2 However: if he carried it on a pole, pays all
vi  Final story: 13n 27 92 n27’s porters broke his barrel of wine; he seized their clothes against payment
1  Case: came to 11, who ordered him to return clothes
(a) n™a: “is this the law”?
(i) aryes asperv.la
2 Then: 27 ordered him to pay them for their work
(a) n™an: “is this the law”?
(i) aryes, asperv.1lb
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